990 DUKE, black 2024 <2024><US><F9875XD>

ENGINE CASE
69126
+ Dichtungen / sealings
1x 63533088000
+ Lager / bearings
1x 0625068910
1x 0410003000700
1x 54632095000
1x 0618101410
1x 0625068911
Dichtungssatz
Gasket-Set
Pos Part Number Description Additional Text Quantity
1 A6403000004424 Engine case cmpl. 1.00
4 09130800608 THREAD PIN DIN913-M8X6 PRE30 2.00
7 0000150802000 Screw, M8x20 SW=8 8.8 1.00
8 0603082131 COPPER Gask.DIN7603- 8.2X13X1 1.00
9 60030063070 oil jet 70 M5 1.00
10 59030023000 dowel sleeve 6x8x11.5 3.00
1" 79230010000 Housing bush 2.00
12 00002506035U0 Hex collar scr., M6x35, ISA 30 3.00
13 00002508065U0 Hexagon collar nut M8x65 ISA 4 9.00
14 0025080906 HH collar screw M8x90 TX40 3.00
15 00002508090U0 Hex collar scr., M8x90, ISA 40 7.00
16 00002506060U0 Hex collar scr., M6x60, ISA 30 2.00
21 0377101018000 O-ring 10x1.8 HNBR70 black 1.00




ABG4030099000

Gasket kit Engine 990 Duke '24

\ 1.00




